Package

SBP-300KM

SEBE

STAINLESS BOLT
(M10XL30) 4EA

0000
SPRING WASHER 4EA
SSSS)
PLAIN WASHER 4EA
SBP-300PM
STAINLESS BOLT
(M10XL30) 4EA
6600
SPRING WASHER 4EA
STAINLESS STEEL
MOUNT STRAP PLAIN WASHER 4EA

POLE MOUNT ADAPTOR

Product Overview

(2}

s )

[
o

@)
=

KOR

ENG SBP-300KM : This is an adaptor that is used to install the Wall Mount Adaptor
(SBP-300WM) in a corner of the wall.
SBP-300PM : This product is used to install the Wall Mount Adaptor (SBP-300WM)
onto a pole of at least 80 mm in diameter.

FRA SBP-300KM : Adaptateur permettant d'installer I'adaptateur de fixation murale

(SBP-300WM) dans I'angle du mur.
SBP-300PM : Ce produit permet de monter I'adaptateur de fixation murale
(SBP-300WM) sur un pylone d'au moins 80 mm de diamétre.

SBP-300KM : Das ist ein Adapter, der zur Montage des Wandadapters (SBP-300WM)
in einer Wandecke verwendet wird.

SBP-300PM : Dieses Produkt dient zum Montieren des Wandadapters (SBP-
300WM) an einem Mast mit einem Durchmesser von mind. 80 mm.

PA SBP-300KM : Este es un adaptador que se utiiza para instalar el adaptador de
montaje en pared (SBP-300WM) en una esquina de un muro.

SBP-300PM : Este producto se utiliza para instalar el Adaptador de montaje en
pared (SBP-300WM) en un poste de al menos 80 mm de diametro.

SBP-300KM : Questo & un adattatore utilizzato per installare I'adattatore per
montaggio a parete (SBP-300WM) in un angolo della parete.

SBP-300PM : Questo prodotto € utilizzato per installare I'adattatore per montaggio a
parete (SBP-300WM) su un palo di almeno 80 mm di diametro.

SBP-300KM : 3TOT NepexofH1K MCNonb3yeTca AN YCTaHOBKM HacTeHHOro afantepa
(SBP-300WM) 8 yrny.

SBP-300PM : 3TOT NPOAYKT MCMONb3yeTca ANA YCTaHOBKU HACTEHHOTO KPOHLUTENHa
(SBP-300WM) Ha cTon6, MUHMManbHbIA AYaMeTp KOTOPOro cocTaBnAeT 80 MM.

= m

(@)
sl

(7]

U

POL SBP-300KM : Ta przystawka uzywana jest do montowania Przystawki $ciennej
(SBP-300WM) w kacie pomiedzy $cianami.
SBP-300PM : Ten produkt jest uzywany do montazu przystawek $ciennych
(SBP-300WM) na stupie o srednicy co najmniej 80 mm.

TUR SBP-300KM : Bu, Duvar Montaj Adaptérint (SBP-300WM) duvar kdselerine monte

etmek igin kullanilan bir adaptordur.
SBP-300PM : Bu Urtin, Duvara Montaj Adaptoriini (SBP-300WM) en az 80 mm
¢apa sahip bir direde monte etmek igin kullanilr.

SBP-300KM : Adaptér uréeny k instalaci adaptéru pro upevnéni na sténu
(SBP-300WM) do rohu na sténg.

SBP-300PM : Tento produkt je uréen k instalaci adaptéru pro upevnéni na sténu
(SBP-300WM) na stozér o praméru alespori 80 mm.

SBP-300KM : 74—l « XU b« 7A T4 (SBP-300WM) ZEDRBICRET 57
SIFERT BT T2 TY,

SBP-300PM : ZDEBEFERLT, D=L -IIV b7
ZEERDSOMMEBA HIHIRELE Y.

SBP-300KM : zmmﬁ‘iﬁﬁx%mt%ﬁ_ie%ﬁ (SBP-300WM) aquaase
SBP-300PM : Z&7= 5 f T i1k L %25 A0 88 (SBP-300WM) R HZEZE DA 80
%*E’]H?J:

SBP-300KM : £ HZ2 22| 2 M2|20] Wall Mount Adaptor(SBP-300WM)& AX| Al
AI8ste Adaptor YLt

SBP-300PM : £ HMiE2 80mmoOlAte] #7150 Wall Mount Adaptor (SBP-300WM)E
Mx| Al AF25He Adaptor YLICH

274 (SBP-300WM)

Installation Precautions

Make sure that the installation place can endure at least 4 times of the total weight of the
Corner/Pole Mount Adaptor, Wall Mount Adaptor, Hanging Mount Adaptor, and Camera.
Each anchor bolt to use must be capable of withstanding an extraction force of 700 kg.
When installing the product outdoors, use interlocking devices made of stainless steel.
This product is designed to use M10 Anchor Bolts (Nuts) for the installation.

If you install the Corner Mount Adaptor on a concrete wall, it is recommended to use M10
Anchor Bolts (Nuts) along with plain and spring washers.

Assurez-vous que |'emplacement de I'installation peut supporter au moins 4 fois le poids total de
I'adaptateur de fixation sur pylone/d‘angle, de I'adaptateur de fixation murale, de I'adaptateur
pour fixation suspendue et de la caméra.

Chaque boulon utilisé doit pouvoir résister a une force d'extraction de 700 kg.

Si vous installez le produit a I'extérieur, utilisez des dispositifs de verrouillage en acier
inoxydable.

Pour installer ce produit, vous avez besoin de boulons d'ancrage M10 (écrous a river).

Si vous fixez I'adaptateur de fixation murale sur un mur en béton, nous vous conseillons
d'utiliser des boulons d'ancrage M10 (écrous a river) avec rondelles de ressort et plates.

Stellen Sie sicher, dass der Montageort das 4-fache Gesamtgewicht der Eck-/Masthalterung,
des Wand- bzw. Hangeadapters und der Kamera tragen kann.

Jeder Ankerbolzen muss einer Ausziehkraft von 700 kg standhalten kénnen.

Wenn das Produkt im Freien montiert wird, missen Verriegelungseinrichtungen aus Edelstahl
verwendet werden.

Bei der Montage dieses Produkts bendtigt man Ankerbolzen und Muttern (M10).

Wenn Sie die Eckhalterung an einer Betonwand befestigen, wird die Verwendung von M10
Ankerbolzen (Muttern) und von Unterleg- bzw. Spannscheiben empfohlen.

Asegurese de que el lugar de instalacion puede soportar al menos 4 veces el peso total del
adaptador de montaje en esquina/poste, el adaptador de montaje en pared, el adaptador de
montaje en suspension y la camara.

Cada perno de anclaje debe tener la capacidad de soportar una fuerza de extraccion de 700 kg.
Al instalar el producto en exteriores, utilice dispositivos de interbloqueo de acero inoxidable.
Este producto se ha disefiado para utilizar tornillos de anclaje M10 (tuercas) para la instalacion.
Siinstala el adaptador de montaje en esquina en un muro de hormigoén, se recomienda utilizar
pernos de anclaje M10 (tuercas) junto con arandelas planas y de muelle.

Assicurarsi che il punto prescelto per I'installazione possa sopportare un peso 4 volte
superiore a quello totale di adattatore per montaggio ad angolo/su palo, adattatore per
montaggio a parete, adattatore per montaggio sospeso e videocamera.

Ogni bullone di ancoraggio da utilizzare deve poter resistere ad una forza di estrazione di 700 kg.
Per installare il prodotto all'aperto, utilizzare dispositivi di ancoraggio in acciaio inossidabile.
Questo prodotto & progettato per utilizzare bulloni (dadi) di ancoraggio M10 per I'installazione.
Se siinstalla I'adattatore per montaggio ad angolo su un muro di cemento, si raccomanda di
utilizzare bulloni (dadi) di ancoraggio M10 con rondelle piane ed elastiche.

Y6enuTech, YTo MECTO YCTaHOBKM BbIAEPXKMBAET BEC NPUMEPHO B 4 pasa bonblumii obuiero
Beca yr710Boro ajjantepa/ansa KpenneHua K KOMOHHe, a TakKe HaBeCHOro ajjanTepa 1 Kamepsl.
Kaxabiit cnonb3yemblii KpenexHbli 60T JOMKEH BbiAEPXIBaTb CUMy U3BNIEYEHNSA, PaBHYIO
700 Kr.

ECm NpopyKT YCTaHaBNMBAETCA BHE MOMeLLeHMA, HeOBXOAMMO VCMONb30BaTb YCTPOICTBO
6/TOKVNPOBKY 113 HepXKaBeloLLEei CTanu.

JInA yCTaHoBKM 3TOrO NPOAYKTa UCMoNb3yloTCA KpenexHble 6onThl (rarku) M10.

[pw ycTaHOBKe yrnoBoro agantepa Ha 6ETOHHON CTeHe PeKOMeHAYeTCA UCMoNb30BaTh
KpenexHble 6onTbl (raitkv) M10, a Takxe NAoCK1e 1 NPYKUHHbIE Waibbl.

Upewnij sie, ze miejsce instalacji moze utrzymac ciezar czterokrotnie wiekszy od tacznej wagi
Przystawki do montazu na stupie/przystawki katowej, Przystawki sciennej, Przystawki wiszacej
i Kamery.

Kazda kotwa musi mie¢ zdolno$¢ wytrzymania sity wyciagania 700 kg.

W przypadku montazu produktu na zewnatrz nalezy uzywaé blokad ze stali nierdzewne;.
Produkt ten nalezy montowac¢ za pomoca kotew (nakretek) M10.

W przypadku montazu Przystawki katowej na $cianie betonowej zalecane sa kotwy (nakretki)
M10 oraz podktadki zwykte i sprezyste.

Montaj yerinin Kse/Direk Montaj Adaptériiniin, Duvar Montaj Adaptériiniin, Askili Montaj
Adaptorinin ve Kamera’'nin toplam agiriginin en az 4 katina dayanikli oldugundan emin olun.
Kullanilacak her ankraj civatasi, 700 kg'lik bir cekme kuvvetine dayanikli olmalidir.

Urlini dis mekana kurarken, paslanmaz celikten yapilmis i¢ kilit mekanizmalar kullanin.

Bu Urtin, M10 ankraj civatalariyla (somunlar) birlikte kullaniimak icin tasarlanmistir.

Kdseye Montaj Adaptoriini beton bir duvarda kullanacaksaniz, diz ve yayl rondelalara sahip
M10 ankraj civatalarinin (somunlarin) kullanimasi énerilir.

Ujistéte se, Ze misto, kam chcete zafizeni instalovat, unese nejméné ¢tyfnasobek souctu
hmotnosti rohového adaptéru nebo montézniho adaptéru pro stozary, adaptéru pro upevnéni
na sténu, zavesného montazniho adaptéru a kamery.

Kazdy kotevni Sroub musf byt schopen odolat tahu 700 kg.

Pfi instalaci produktu ve venkovnich prostorach pouZijte zajistovaci prvky z nerezové ocel.
Tento produkt je navrzen pro pouZiti kotevnich Sroubl a matic M10 pfi instalaci.

PFi instalaci rohového adaptéru na betonové stény se doporucuje pouZit kotevni Srouby a
matice M10 spolu s plochymi a pérovymi podloZkami.

REBPADN AT — /R )RG> T TR OF I XIS TET RN F
Vb 7'617’%53:073%70).:.#ig@a-ngi'(ﬂﬁx%hé:&%ﬁ&%b’(<ritft\
AT HET7H— RV ML 700kgDIREAICTHASNE T,

DR GREBRNCERBTHHEIE ATV DX%@E@@J%E%@E% Lol
ZOHBIEMI0T7H—RIVE (Fy ) ZERLCGRE

a7 — DB O—F— I h- 7’97’7%&%‘9“5%%3 M107>H—-KIL b
(FyBM) EFDY v —BLURT 7Dy v—RERT A EEHEBDHLET,

ﬁﬁ%ﬁ”‘”’hﬁé"‘"ﬂlﬁx%E/E‘t"“'* EERE. ELRRERR. BERRE
BENDEZE 4 158

SIER G IR L S R 700’\)?37?&5:1‘7111
EEIRE @I, EERATEREEREEER
ARFERIZTT AR M0 Bl (128 j#1 Eéq
ﬁéﬂ%ﬁﬁg"”" REESTETRELEL BWEM0EEEL (B8 5REEHIEN

HXIEAT} Corner /Pole Mount Adaptor. Wall Mount Adaptor. Hangmg Mount Adaptor,
Camera 2 E529| 4l 0|42 S&0| 712 4 U= R0l HX[sIML.

MHx|El 217to] 97t ZEE 700kg2| t”71340" ZACiofot BiLIH,

2200 BXIA| HAF= AHQZA MHES AMESIML.

0| HZ2 M102| U7t EE(HE)E AIS5t== 571|5|01 ASLICH

Corner Mount AdaptorS 232|E=0| MX[& 242 M102] Y7t 2EE(HE)S HAMN U
ATYRIMRL B AFSSIMIR.

BL3A0



Installation
SBP-300KM

1 Mark and drill 8 holes into the Corner Mount Adaptor where you will insert
the Anchor Bolts or Nuts (M10), and fasten the Corner Mount Adaptor with
the Bolts, plain and spring washers.

SBP-300PM
1 Select a pole to install and confirm the installation height.

2 Use the Stainless Steel Mounting Strap to secure the Pole Mount Adaptor
to the pole.

2 Insert the cables through the Corner Mount Adaptor. 3] Insert the cables through the Pole Mount Adaptor.

4 Use the provided Bolts, Spring Washers and Plain Washers to mount the
Wall Mount Adaptor onto the product.
= For more information, refer to the installation guide of the Wall Mount Adaptor.

3 Use the provided Bolts, Spring Washers and Plain Washers to mount the
Wall Mount Adaptor onto the product.
= For more information, refer to the installation guide of the Wall Mount Adaptor.

™ Anchor Bolt Stainless Steel Mounting Strap

Pole Mount Adaptor

Plain Washer
Spring Washer

Anchor Bolt

Plain Washer Corner Mount Adaptor

Spring Washer

Product Specifications

SBP-300KM

SBP-300PM

* Weight : 2200g

* Material : Steel

¢ Operation temp. : -50°C~60°C
¢ Operation hum. : 0~100%

* Weight : 1400g

¢ Material : Steel

e Operation temp. : -50°C~60°C
¢ Operation hum. : 0~100%

¢ Poids : 22009

o Matériau : Acier

¢ Température de fonctionnement :
-50°C~60°C

Humidité de fonctionnement :
0~100%

¢ Poids : 14009

* Matériau : Acier

e Température de fonctionnement :
-50°C~60°C

Humidité de fonctionnement :
0~100%

Gewicht : 2200g

Material : Stahl
Betriebstemperatur : -50°C~60°C
Betriebsluftfeuchte : 0~100%

Gewicht : 1400g

Material : Stahl
Betriebstemperatur : -50°C~60°C
Betriebsluftfeuchte : 0~100%

Peso : 2200g

Material : Acero

Temp. funcionamiento : -50°C~60°C
Hum. funcionamiento. : 0~100%

Peso : 14009

Material : Acero

Temp. funcionamiento : -50°C~60°C
Hum. funcionamiento. : 0~100%

Peso : 2200g

Materiale : Acciaio

Temperatura di esercizio : -50°C~60°C
Umidita di esercizio : 0~100%

Peso : 1400g

Materiale : Acciaio

Temperatura di esercizio : -50°C~60°C
Umidita di esercizio : 0~100%

Bec : 2200g

Matepwan : Cranb

Temnepatypa npw pabore :
-50°C~60°C

BnaxHocTb npw pabote : 0~100%

Bec : 14009

Matepwan : Cranb

Temnepatypa npu pabore :
-50°C~60°C

BnaxHocTb npw pabote : 0~100%

Cigzar : 2200g

Materiat : Stal

Temperatura robocza : -50°C~60°C
Wilgotnos¢ robocza : 0~100%

Ciezar : 14009

Materiat : Stal

Temperatura robocza : -50°C~60°C
Wilgotnos¢ robocza : 0~100%

Anchor Bolt Wall Mount Adaptor
Wall Mount Adaptor (SBP-300WM)
(SBP-300WM)
Product Outline Product Outline
g 8
o L

100
[oN
a

F=¢ F=¢
- ]
15 @ 45
B-@II
ol m
3 o o ofo o ©
@45
IS
() GK D
¢ o lo_ofs
© 4-MIOxI.5 NUT
50 50 4-MIOxI.5 NUT

Agirlik : 2200g

Malzeme : Celik

Calisma sicakligi : -50°C~60°C
Galisma nem degeri : 0~100%

Agirlik : 14009

Malzeme : Celik

Calisma sicakligi : -50°C~60°C
Galisma nem degeri : 0~100%

Hmotnost : 22009

Materidl : Ocel

Provozni teplota : -50°C~60°C
Provozni vihkost : 0~100%

Hmotnost : 14009

Materidl : Ocel

Provozni teplota : -50°C~60°C
Provozni vihkost : 0~100%

E& 22009

M&E: AF—)L
EERME : -50°C~60°C
FIERE : 0~100%

£ 14009

M&E: AF—)U
EHERRE : -50°C~60°C
FIERE : 0~100%

F8 22009

E W

T{EBE : -50°C~60°C
T1ERE : 0~100%

E8 : 1400g

HHE W

T{EBE : -50°C~60°C
T1ERE : 0~100%

27 1 22009

A : Steel

* A8 2k 1 -50C~60T
° A2 & 1 0~100%

27 1 14009

A : Steel

* A8 2k 1 -50C~60T
o A8 &X 1 0~100%

WiTHRE: Q/12JD5708
SBP-300KM/PM Z6806149401A



